
  

  

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; ; 
 
 
 

kl;lk; III guPl;ir – [_iy 2021 

 
  

gupe;Jiuf;fg;gl;l tpilfs;; 

(302) Kfhik fzf;fPLk;; epjpapaYk; (MAF) 

 
,yq;if fz f;f Pl ;Lj ; njho py ;El;gt pa hs u;fs ; fofk ; 

,y > 640> ntd ;. KWj ;njl ;Lntd Mde ;j ehf pk p khtj ;i j >  
  ehNu`d ;g pl ;b > nfhO k ;G - 05 

                                njh.Ng - 011 2 559 669 

 
 
 
 

 
 
 

 
 

fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL 
 



 

[Type text]           1        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

 ehd;F (04) fl;lha tpdhf;fs; 
(nkhj;jk; 20 Gs;spfs;) 

tpdh 01 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 07 – njhopw;ghl;L %yjd Kfhikj;Jtk; 
  

  Note 2020/21 (ehl;fs;) 

,Ug;G Row;rp (tjp) fhyk; 1 73 

tpahghu tUkjp Row;rp; fhyk; 2 91 

  

 

164 

(-)tpahghu nrd;kjp tjpTf;fhyk; 

 

(78) 

njhopw;ghL %yjd Row;rpapd; fhyk;   86 

  

Fwpg;G 01 - ,Ug;G Row;rp fhyk; 
   

,Ug;G tjpTf;fhyk; = 
ruhrup ,Ug;G 

x 365 ehl;fs; 
tpahghuf; fpuak; 

 
= (1,965 + 1,515)/2 x 365 ehl;fs; 

  
8,700 

  

 

= 1,740 x 365 ehl;fs; 

  

8,700 
  

 

= 73 ehl;fs; 
  tpw;gidf;fpuak;     

,yhgk; = 11,600 × 25% = 2,900 

fpuak; = 11,600 – 2,900 = 8,700 

     

Fwpg;G 02 - tpahghu tUkjp Row;rp; fhyk; 
  

tpahghu tUkjp Row;rp; fhyk; = 
ruhrup tUkjp x 

365 ehl;fs; 
fld; tpw;gid 

 

 

= (3,505 +2,295)/2 x 365 ehl;fs; 

  

11,600 
  

 

= 2,900 x  365 ehl;fs; 

  

11,600 
  

 

= 91 ehl;fs; 
     (05 Gs;spfs;) 

gFjp - A 
 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk; III guPl;ir – [{iy 2021 

(302) Kfhik fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 



 

[Type text]           2        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu; ghjPly; 
 (a) 
 
epjpf; fz;Nzhl;lk; 

 nkhj;j ,yhg tpfpjk; 

 Mz;Lf;fhd tUkhdk; 

 nkhj;j tpw;gidapypUe;J Gjpa jahupg;Gfspd; tpw;gid rjtPjk; 

 tUkhd mjpfupg;gpd; rjtPjk; 

 ruhrup myfpd; tpw;gid tpiy 

 xU myfpd; ruhrup nkhj;j ,yhgk; 

 
 
thbf;ifahsu; fz;Nzhl;lk; 

 thbf;ifahsu;fspd; vz;zpf;if 

 thbf;ifahsu; Kiwg;ghLfspd; vz;zpf;if 

 Gjpa thbf;ifahsu;fspd; vz;zpf;if  
   (03 Gs;spfs;) 

(b)  

 nray;jpwd; mstPL mfepiy. 

 ,J epWtd mikg;Gf;F Vw;wjhf ,Uf;f Ntz;Lk;. 

 mJ ntw;wpngw> jiyikj;Jtj;ij thq;f Ntz;Lk;. 

 ,J rpf;fyhd KiwahFk; 

 ,jw;F epiwa juTfs; Njitg;gLk;. 

 ,lu; epu;thfj;jpd; nghUshjhu kjpg;gpd; Neub epjp gFg;gha;T ,jpy; 
cs;slf;fg;glhJ. 

 epWtdk; mjd; rkg;gLj;jw; Gs;spaply; ml;il ,yf;Ffis milaj; 
jtwpdhy;> ntw;wpia re;jpf;fTk; kw;Wk; Njhy;tpiaj; jtpu;f;fTk; 
,yf;Ffis jw;Nghija tptfhuq;fSf;F kPz;Lk; tpsf;fkspf;fg;glyhk;. 

 eltbf;iffs; Kuz;gl;l rkpf;iQfisf; nfhLf;fyhk; kw;Wk; mJ 
epu;thfj;ijf; Fog;gyhk;. 

 ,e;j mZFKiw tpiuthd jPu;T my;y. nghUj;jkhd rkg;gLj;jw; 
Gs;spaply; ml;ilia cUthf;f fzprkhd rpe;jid Njit. 

 nghUshjhu kjpg;G kw;Wk; ,lu; Kfhikj;Jtj;jpy; epjp gFg;gha;T ,y;iy. 

 rpy gpupT nray;jpwd; Fwpfhl;bfSf;F ,ilNa Kuz;ghL cs;sJ. 

 ,J Neuj;ij nrytpLk; xU nraw;ghL MFk; 

  

 (02 Gs;spfs;) 

(nkhj;jk; 05 Gs;spfs;) 



 

[Type text]           3        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w    
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 

         31 khu;r; 2021 vy;iyf;fpuakply; tUkhdf; $w;W            (&.’000) 

tpw;gid 16,800×Rs.800 

 

13,440 

(-) tpw;gidf; fpuak;  
  Muk;g ,Ug;G 2,900×300 870 

 cw;gj;jp khWk; fpuak; (W 01) 15,500×300 4,650 
 

 

 5,520 
 ,Wjp ,Ug;G (W02) 1,600×300 (480) 
 tpw;gidf; fpuak;  

 

(5,040) 

 

 

 

            8,400 

Vida khWk; fpuak;  

 

- 

gq;fspg;G  

 

8,400 

epiyahd Nke;jiy fpuak;  

  cw;gj;jp Nke;jiy  2,240 
 epu;thf kw;Wk; tpepNahf 

fpuaq;fs; 
 

600 (2,840) 

Mz;bw;fhd ,yhgk;  

 

5,560 

 
W 1 – myfpw;fhd cw;gj;jpf;fpuak; 

 

Rs. 

Neu; %yg;nghUs; 120 

Neu; $yp  150 

khWk; Nke;jiy 30 

 

300 

W 2 - ,Wjp ,Ug;G 
 Rs. 

Muk;g ,Ug;G 2,900 

cw;gj;jp           15,500 

 18,400 

(-) tpw;gid  (16,800) 

,Wjp ,Ug;G           1,600 

 
 
Muk;g ,Ug;gpd; tpiy xU myfpd; &.300/-f;F rkkhf ,Uf;Fk; vd;W fUjg;gLfpwJ. 

 
 (05 Gs;spfs;) 

 



 

[Type text]           4        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 04 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w    
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

    

   (&.’000) 
cs;sfuPjpahfj; 

jahupg;gjw;F 

2,790 × 100 =  279,000 

    

ntsp%ykplypd;    

ntsp%ykplypd; fpuak; 2,500 × 100 = 250,000 

epiyahd cw;gj;jp;f; 

fpuak; 

430 × 100 × 35% = 15,050 

,og;gPl;Lf; nfhLg;gdT  = 36,000 

khWk; fpuaj;jpd; Nrkpg;G (1,430 + 610 +320) 100 = (236,000) 

                    65,050 

cw;gj;jp fpuaj;NjhL xg;gpLk; NghJ ntsp%ykply; fpuakhtJ FiwthFk;. ntsp%ykply; 
nra;tJ rhj;jpakhdJ.  

(05 Gs;spfs;) 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

gpupT A KbT 
 



 

[Type text]           5        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 

 

tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w    
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 (a) 
%yg;nghUs;  AB 

nghUs; Nfs;tp xU myfpw;fhd 
%yg;nghUs; 

nkhj;j Njitg;ghL 
Kg 

rpwpa msT 1,500 (225/150)  1.50 2,250 

ngupa msT 600        (450/150)   3 1,800 
nkhj;j Njitg;ghL %yg;nghUs; 

AB 
  

4,050 

%yg;nghUs; fpilg;gdT AB 
  

4,200 

%yg;nghUs; kpif 
  

150 
 

%yg;nghUs; CD 

nghUs; Nfs;tp 
xU myfpw;fhd 
%yg;nghUs; 

nkhj;j Njitg;ghL 
Kg 

rpwpa msT 1,500 (400/800) 0.50 750 

ngupa msT 600         (800/800) 1 600 
nkhj;j Njitg;ghL %yg;nghUs; 

CD 
  

1,350 

%yg;nghUs; fpilg;gdT CD 
  

(1,100) 

%yg;nghUs; jl;Lg;ghL 
  

(250) 
 

jpwikahd $yp 

nghUs; Nfs;tp xU myfpw;fhd 
jpwikahd $yp (kzp) 

nkhj;j Njitg;ghL 
Hrs 

rpwpa msT 1,500          (600/400)    1.50 2,250 

ngupa msT 600          (1,000/400) 2.50 1,500 
nkhj;j Njitg;ghL jpwikahd 
$yp 

  

              3,750 

jpwikahd $yp fpilg;gdT 
  

              4,400  

kpifahd $yp  
  

               650 

 
tiuaWf;;fg;gl;l fhuzp CD MFk; 
 

   (04 Gs;spfs;) 
 
 
 
 

 

gpupT - B 



 

[Type text]           6        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(b)  

 
rpwpa msT ngupa msT 

tpw;gid tpiy  2,800  4,500 

(-) khWk; fpuak;  

 

 

 %yg;nghUs; AB 225  450  

%yg;nghUs; CD 400  800  

jpwikahd $yp A 600  1,000  

khWk; Nke;jiy 300  400  

nkhj;j khWk; Nke;jiy  (1,525)  (2,650) 

gq;fspg;G  1,275  1,850 

xU myfpw;fhd CD %yg;nghUs;  0.5kg  1kg 

xU KG CD %yg;nghUspd; 
gq;fspg;G 

 
2,550 

 
1,850 

epiy  1  2 

 
cj;jk cw;gj;jpf; fyit 
 

nghUs; cw;gj;jpj; 
jpl;lk; 

xU myfpw;fhd CD 
%yg;nghUs; Kgs 

nkhj;j Njitg;ghL 

Kgs 

rpwpa msT 1,500 0.50 750 

ngupa msT 350 1 350 

   

1,100 

 
  

 (06 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

[Type text]           7        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu; ghjPly; 

(&.’000) 

 

[dtup-22 ngg;utup-22 khu;r;-22 

tuTfs; 
   fhR tpw;gid (W1) 450 396 378 

fld; tpw;gid  (W1) 2,560 2,000 1,760 

 FWq;fhy fld; - 600 728 

nkhj;j tuT 3,010 2,996 2,866 

    nfhLg;gdTfs; 
   %yg;nghUs; toq;FdUf;fhd nfhLg;gdT (W2) 900 960 750 

Nke;jiy toq;FdUf;fhd nfhLg;gdT (W2) 250 220 210 

gzpahsu;fs; rk;gsk; kw;Wk; Cf;fj;njhif 1,500 1,500 1,500 

epu;thf nryTfs; 400 400 400 

FWq;fhy fld; tl;b @ 1% (12%/12) - - 6 

nkhj;j nfhLg;gdT 3,050 3,080 2,866 

kp / nfh / nr 1,124 1,084 1,000 

kp / nfh / t 1,084 1,000 1,000 
  

  W1 - fhR tpw;gid & fld; tpw;gid   

 
et-21 br-21  [d-22 ngg; -22 khu; -22 

tpw;gid 3,000 3,200 2,500 2,200 2,100 
fhR tpw;gid @ 20% 600 640 500 440 420 
fhR tpw;gid %yk; ngw;w fhR @ 
90% 540 576 450 396 378 
      

fld; tpw;gid   2,400 2,560 2,000 1,760 1,680 

fld; tpw;gid %yk; ngw;w fhR 
 

2,400 2,560 2,000 1,760 

      W2 - %yg;nghUs; toq;FdUf;fhd 
nfhLg;gdT      
 et -21 br -21 [d -22 ngg;  -22 khu; -22 

tpw;gid 3,000 3,200 2,500 2,200 2,100 

tpw;gidf;fpuak; 40% (100%-60%) 1,200 1,280 1,000 880 840 
%yg;nghUs; fpuak; @75% 900 960 750 660 630 
%yg;nghUs; toq;FdUf;fhd 
nfhLg;gdT 

  

900 960 750 
Vida Nke;jiyf; nfhLg;gdT 
@25% 300 320 250 220 210 

(nkhj;jk; 10 Gs;spfs;) 
 



 

[Type text]           8        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 07 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 05 - %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 
(a) rhjhuz gq;Ffspd; fpuak;: 

 
Ke = d0   

× 100 

   

P0 

 

Ke = 2.70 
× 100 

   

18 

 

Ke = 15%  

  
(02 Gs;spfs;) 

(b)  kPl;fg;gl Kbahj Kd;Dupikg; gq;Ffspd; fpuak;: 
 

 
Kp = D0 

× 100 

   

P0 

 

Kp = 1 
× 100 

   

12.5 

 

Kp = 8%  
  

(02 Gs;spfs;) 
(c) kPl;fg;glf;$ba jdpr;rq;fspd; fpuak;: 

Mz;L fhRg;gha;r;ry; Mz;L DF @ 10% PV DF @ 15% PV 

0 toq;fy; 95 1.000 95 1 95 

1-5 tl;b (11) 3.791 (41.70) 3.352 (36.87) 

5 
kPl;fg;gl;l 
ngWkjp (100) 0.621 (62.09) 0.497 (49.72) 

 

 

 

NPV (8.79) 
 

8.41 

 
IRR = 

A + 
NPVa 

× 
(B-A) 

  
NPVa - NPVb 

    
 

 
   

 

= 10% + 8.79 

× 
(15%-10%) 

 
   

8.79 - (8.41) 

 
   

     

 

= 0.10 + 8.79 x 5% 
  

 
   

17.2 
  

           

 = 0.10 + 0.026     

         

 

= 12.56% 
      (03 Gs;spfs;) 



 

[Type text]           9        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(d) re;ijg; ngWkjpiag; ghtpj;J %yjdj;jpd; epiwNaw;wpa ruhrupf; fpuak 

 

tpguk; 
re;ijg; 
ngWkjp 
&.000 

COC % COC &. 

 
rhjhuz gq;Ffs;  2,700 15.00% 405 

 
Kd;Dupikg; gq;Ffs;  437.5 8.00% 35 

 
jdpr;rq;fs;  475 12.56% 59.64 

  

3,612.5 
 

499.64 

 
WACC   = 499.64 X  100 =    13.83% 

 
3,612.50 

  
 
 

(03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

gpupT B KbT 
 



 

[Type text]           10        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 

tpdh 08 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 04 – epakf; fpuak; kw;Wk; Kuz; gFg;gha;T 

 (a) 
(i)  
Neu; 
%yg;nghUs; 
tpiy Kuz; = (epak tpiy - cz;ik tpiy) × epak  gad;ghL 

   X = (600 - 658) × 4,250 = 246,500  ghjfk;  

          Y = (240 - 218) × 17,985 = 395,670  rhjfk; 

        

149,170 rhjfk; 
 

(02 Gs;spfs;) 
(ii)  
Neu; 
%yg;nghUs; 
fyit 
Kuz;= 

%yg;nghUspd; epaktpiy* [(cz;ikahd 
%yg;nghUs; ghtid* epak fyit) – (cz;ikahd 

%yg;nghUs; ghtid * cz;ikahd fyit)] 

  

%yg;nghUs; 
X 

600× [(22,235 × 0.5/2.5)- (22,235 × 4,250/22,235)]  
600×(4,447-4,250)  

118,20
0 

rhjfk; 

%yg;nghUs;  
Y 

240× [(22,235 × 2/2.5)- (22,235 × 17,985/22,235)]  
600×(17,788-17,985) 

47,280 ghjfk; 

nkhj;jk;  70,920 Favourable 

(04 Gs;spfs;) 
(iii)   
Neu; 
%yg;nghUs; 
Yield Variance = 

%yg;nghUspd; epaktpiy *[( cz;ikahd epak 
fyit * epak fyit) – (cz;ikahd %yg;nghUs; 

ghtid * epak fyit)] 

  

%yg;nghUs; X 600× [((0.5+2))kg × 8,175 units× 0.5/2.5)- 
((4,250+17,985)× 0.5/2.5)]  
 
600× [(2,043.75×0.5/2.5)]  
 
600×(408.75-4,447)  

215,700 ghjfk; 

%yg;nghUs;  Y 240× [((0.5+2)kg × 8,175 units× 2/2.5)-
((4,250+17,985) kg × 2/2.5)]  
 
240× [(20,437.50 × 0.5/2.5)] - [(22,235 ×2/2.5)] 
240×(16,350 -17,788)  

345,120 ghjfk; 

nkhj;jk;  560,820 ghjfk; 

 (04 Gs;spfs;) 

gpupT - C 



 

[Type text]           11        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(b) njhopw;ghl;L $w;W – vy;iyf;fpuak; 

ghjpl;l gq;fspg;G 8,250*295 
  

2,433,750 
tpw;gid vy;iy fdtsT Kuz; 

   

(22,125) 
ghjpl;l gq;fspg;G – cz;ikahd 
tpw;gid 8,175*295 

  

2,411,625 

     Kuz; jpUj;jq;fs; 
 

ghjfk; rhjfk; 

 Neu; nghUs; tpiy Kuz; 

 
- 149,170 

 Neu; nghUs; ghtid Kuz; 

 
- 70,920 

 Neu; $yp fyit Kuz; 

 
560,820 - 

 Neu; $yp fyit Kuz; 

 
- 121,000 

 Neu; $yp tpisT (cw;gj;jpwd;;) Kuz; 

 
135,000 - 

 khWk; Nke;jiy nrytpd Kuz; 

 
9,075 - 

 khWk; Nke;jiy tpidj;jpwd; Kuz; 

 
22,500 - 

 tpw;gid tpiy gq;fspg;G Kuz; 
 

163,500 - 
 

  

890,895 341,090 (549,805) 

cz;ikahd gq;fspg;G 
   

1,861,820 

(05 Gs;spfs;) 

(nkhj;jk; 15 Gs;spfs;) 

tpdh 09 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 06 - %yjd KjyPLfs; kjpg;gPL 

 (a) 
      (&.’000) 

 
0 1 2 3 4 5 

KjyPL (55,000)      

nkhj;j ,yhgk;  22,000  22,400   21,120          19,250          12,960  

guhkupg;G fpuak;  (3,300) 

     epiyahdf; fpuak; 

(W1)  (3,940) (3,940) (3,940)         (3,940)         (3,940) 

tup (W2)    (876) (972) (665)            (216)         (2,006) 

epfu; fhR 
gha;r;ry; (58,300) 17,184  17,488  16,515          15,094            7,014  

fopTf;fhuzp @ 

14%     1  0.877  0.769  0.675            0.592            0.519  

epfu ,w;iw 
ngWkjp (58,300) 15,070 13,448 11,148            8,936           3,640  

epfu ,w;iw 
ngWkjp (6,058) 

            

       



 

[Type text]           12        Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nra;Kiw : 
      nkhj;j ,yhgk; 
 

22,000  22,400  21,120          19,250          12,960  

epiyahd fpuak; 
 

(15,600) (15,600) (15,600)      (15,600)      (15,600) 

,yhgk; 
 

6,400  6,800  5,520            3,650          (2,640) 

ngWkhdj; Nja;T 
 

   11,000  11,000  11,000          11,000          11,000  

%yjdf; nfhLg;gdT (13,750) (13,750) (13,750)      (13,750)  - 

  
3,650  4,050        2,770                900            8,360  

tup @ 24% 
 

(876)     (972)   (665)            (216)         (2,006) 

 (13 Gs;spfs;) 
 

(b) ,w;iw ngWkjp &. 6.058 kpy;ypad; kiw ngWkjpia jUtjhy; ,e;j ,ae;jpuj;jpy; 
KjypLtJ cfe;jJ my;y.  

 (02 Gs;spfs;) 
(nkhj;jk; 15 Gs;spfs;) 

tpdh 10 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
(A) 

mj;jpahak; 02 – nra;Kiwf; fputpay;  
 

nra;Kiw ll fzf;F                                                      
tpguk; myF ngWkjp tpguk; myF ngWkjp 

Neu; %yg;nghUs; 6,500 2,271,100 KbTg;nghUs; f/F 5,440 3,220,480 

Neu;f;$yp - 944,840 rhjhuz ,og;G (W4) 325 35,750 

Nke;jiy - 416,520   
  

mrhjhuz ,yhgk; 45 26,640 
Gj;JUthFk; f/F  
K/nfh/t 780 402,870 

  6,545 3,659,100   6,545 3,659,100 

Gj;JUthFk; f/F  
K/nfh/nr 780 402,870       

W1- rkdhd myFfspd; $w;W 

 
nkhj;j 
msT  
  Kgs 

%yg;nghUs; X Neu;f;$yp  khWk; Nke;jiy 

 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

KOikahf 
g+u;j;jpahdJ 

rk 
myF 

Muk;g ,Ug;G - 
      ntspaPL 5,440 100% 5,440 100% 5,440 100% 5,440 

rhjhuz ,og;G 
– cs;sPl;bd; 
5%  325 - - 

 
- 

  rhjhuz 
,yhgk; (45) 100% (45) 100% (45) 100% (45) 
,Wjp 
Gj;JUthFk;  
Ntiy 780 100% 780 75% 585 50% 390 
nkhj;j 
cs;sPL 6,500 

 
6,175 

 
5,980 

 
5,785 
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W2- myF fpuaj;jpd; fzpg;gPL 

 

Neu; 
%yg;nghUs; 

Neu;f;$yp Nke;jiy nkhj;jk; 

cs;sPl;bd; fpuak; 2,271,100 944,840 416,520 3,632,460 

tpw;gid nra;ag;gl;lJ &.110/- (35,750) - - (35,750) 

cs;sPl;bd; epfu fpuak; 2,235,350 944,840 416,520 3,596,710 

vjpu;ghu;f;fg;gLk; rk myFfs; 6,175 5,980 5,785 

 cw;gj;jp nra;ag;gl;;l myfpd; 
fpuak; 362 158 72 592 

 
W3 - kjpg;gPl;Lf; $w;W 

 

Neu; %yg;nghUs; Neu;f;$yp Nke;jiy 

nkhj;jk; rk 
myF 

myF
fpuak; nkhj;jk; rk 

myF 

myF 
fpua
k; 

nkhj;jk; rk 
myF 

myF 
fpuak; nkhj;jk; 

ntspaPL 5,440 362 1,969,280 5,440 158 859,520 5,440 72 391,680 3,220,480 

mrhjhuz 
,og;G 45 362 16,290 45 158 7,110 45 72 3,240 26,640 

,Wjp 
Gj;JUthFk;   
Ntiy 780 362 282,360 585 158 92,430 390 72 28,080 402,870 

   

2,267,930 

  

959,060 

  

423,000 3,649,990 
 

W4 – rhjhuz ,og;G 

6,500 × 5% = 325 myFfs; 

ngWkjp = 325 × 110 =  35,750 

(13 Gs;spfs;) 
(B) 

mj;jpahak; 01 – Kfhik fzf;fPl;Lf;fhd mwpKfk;, ,lu; kw;Wk; epr;rakw;w   
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 
 

 
               A                B             nkhj;jk; 

 myFfs; vz;zpf;if                    300                     150  
  

     tpw;gid tpiy                    200                     300                     500  
 (-): khWk; fpuak; 

    Neu; %yg;nghUs;                    (70)                    (60)                  (130) 
 Neu; $yp                    (30)                    (65)                    (95) 
 khWk; cw;gj;jp 

Nke;jiy                    (20)                    (55)                    (75) 
 xU myfpw;fhd gq;fspg;G                       80                     120                     200  
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nkhj;j gq;fspg;G (&.'000)              24,000               18,000               42,000  
 

     nkhj;j tpw;gid (&.'000)              60,000               45,000             105,000  
  

     $l;L ,yhg 
fdtsT tpfpjk; =              42,000  x 100 

 

  
           105,000  

 
= 40% 

   
 

    rkg;ghl;Lg;Gs;sp 
tpw;gid = epiyahd fpuak; 

  

 
$l;L ,yhg fdtsT tpfpjk; 

 

     

 
= 

10,175 
  

 
40% 

  

     

 
=        25,437.50  

  

 
 

   

 
=  25,437,500 units  

 

      
 
epiyahd fpuak; 

    

     

 
A B nkhj;jk; 

 myFfspd; vz;zpf;if 300 150 
  epiyahd cw;gj;jp 

Nke;jiy 20 25 
  nkhj;j gq;fspg;G 6,000 3,750 9,750 

 cw;gj;jp rhuh gq;fspg;G 
 

     425  
 nkhj;j epiyahd fpuak; 

  
 10,175  

 

      (07 Gs;spfs;) 
 

(nkhj;jk;l 20 Gs;spfs;) 
 

 
 
  

gpupT C KbT 
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Notice:  
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designed 

especially for the benefit of those students who are engaged in self-studies. These are intended to assist 

them with the exploration of the relevant subject matter and further enhance their understanding as 

well as stay relevant in the art of answering questions at examination level. 
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